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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Give any two uses of Photodiodes.

		  ’$moQ>mo S>m¶moS> Ho$ H$moB© Xmo Cn¶moJ ~VmBE&

	 (ii)	 What are the advantages of LED?

		  LED Ho$ ³¶m bm^ h¡?

	 (iii)	 Draw frequency response curve of a RC coupled amplifier.

		  RC ¶wp½‘V àdY©H$ Ho$ Amd¥{Îm AZw{H«$¶m dH«$ H$m {MÌ ~ZmBE&

	 (iv)	 What is the value of ripple factor for half wave rectifier?

		  AY©Va§J {XîQ>H$mar Ho$ A{‘H$m JwUm§H$ H$m ³¶m ‘mZ h¡?

	 (v)	 What is an operational amplifier?

		  g§[H«$¶mË‘H$ àdY©H$ ³¶m hmoVm h¡?

	 (vi)	 Write De Morgan theorem.

		  Xo ‘m°J©Z à‘o¶ H$mo {b{IE&

	 (vii)	What do you mean by CMRR for an operational amplifer? 

		  g§{H«$¶mË‘H$ àdY©H$ Ho$ {bE CMRR go ³¶m VmËn¶© h¡?

	 (viii)	What is a demultiplexer?

		  ~hþg§Ho$V {d¶moOH$ ³¶m hmoVm h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 Explain working of VARICAP (Varactor diode)

	 doao³Q>aS>m¶moS> (doarHo$n) H$s H$m¶©{d{Y g‘PmBE&

3)	 Explain the input characteristics of common base configuration 

of transistor.

	 Q´>m§{OñQ>a Ho$ C^¶{ZîR> AmYma {dYm Ho$ {Zdoer A{^bmj{UH$m| H$mo 
g‘PmBE&

4)	 Explain the difference between positive and negative feedback 

in amplifier.

	 àdY©Z ‘| YZmË‘H$ Ed§ G$UmË‘H$ nwZ{Z©doe H$m AÝVa g‘PmBE&

5)	 Describe application of operational amplifier as integrator.

	 g§{H«$¶mË‘H$ àdY©H$ H$m Cn¶moJ g‘mH$bH$ H$s Vah g‘PmBE&

6)	 Explain characteristics parameters of an ideal OP AMP.

	 AmXe© OP AMP Ho$ A{^bmj{UH$ JwUm| H$mo ~VmBE&

7)	 Explain working of diode as a switch.

	 S>m¶moS> H$m pñdM Ho$ ê$n ‘| H$m¶© g‘PmBE&

8)	 Explain pairs, quads and octets for k-map.

	 OmoS>m, dJ© H$moîQ>H$ VWm AîQ>H$ H$mo k-‘on Ho$ {bE g‘PmBE&

9)	 Write short note on D/A conversion.

	 D/A ê$nmÝVaU na g§{jßV {Q>ßnUr {b{IE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Describe principle and operation of astable mulitvibrator. 

Describe calculation of frequency of oscillation for astable 

multivibrator.

	 ñdM{bV ~hþH§${nÌ Ho$ {gÕm§V Ed§ H$m¶©{dYr H$mo g‘PmBE& ñdM{bV 
~hþH§${nÌ H$s H§$nZ Amd¥{V H$s JUZm g‘PmBE&

11)	 Describe application of operational amplifier as square wave 

waveform generator.

	 g§{H«$¶mË‘H$ àdY©H$ H$m Cn¶moJ dJ© Va§J O{ZÌ Ho$ ê$n ‘| g‘PmBE&

12)	 Describe J-K and Master slave J-K Flip Flop.

	 J-K  Ed§ ‘mñQ>a ñbod J-K [âbn âbmn H$mo g‘PmBE&

13)	 Describe successive approximation analog to digital converter.

	 CÎmamoÎma g{ÞH$Q>Z AZwê$n go A§H$s¶ n[adV©H$ H$mo g‘PmBE&


